Class: 6"- Mathematics
Weekly Practice Sheet: 1
Knowing our Numbers

1) Jor 3 AEaa U Arget § o W3 TIAE I8t At & widi3g Hitmr ER 2
Observe the following place value table and find the successor of number given in the table.

¥H a9 / Ten thousand Idg/ Thousand Aa=/ Hundreds TJEl/ Tens feamgl / Units
0 3 9 9 9

1) f3& g9 & R &&= (Three thousand nine hundred ninety nine)
2) 9'd Jd'd (Four thousand)
3) f3& 379 & R waa= (Three thousand nine hundred ninety eight)

4) f3& Tmg &&= (Three thousand ninety nine)

2) 16 o= (Hundred) + 61 Tareni (Tens) + 18 fearetnit (Units) =, ... ... fedrgfT (Units)
1) 2228 2) 95 3) 788 4) 1679

3) TAHI®, wige, ©Ha W3 ffreT <t dardl It &3t ot J | fegs R Az I uie Sadi far & J 2

Height of Simran, Arun, Daman and Krishna is given below. Who is shortest?

fas(Simran) nig=(Arun) TH&(Daman) T (krishna)
135 Aaft.(cm.) 140 faf.{cm.) 122 faft.(cm.) 145 Aaft.{cm.)

L =

9 S g
T 5 T 3

1) fgwar (Krishna) 2) €4& (Daman)  3) fAHa& (Simran)  4) mige (Arun)

4) grafantt f&g 2ut Afunret @7 33<% I3 |
Find the total of the numbers given in balloons.
1) 60068 2) 68 3) 6068 4) 600068 im(sdb)( )
ousan -

5) Aftp AT 89 TIA e IEt At s &% @9 w3 AJT 986 BT |
Observe the following table and Choose the correct statement.
Iag/ Thousand A7/ Hundreds TI8l/ Tens feargt / Units
8 9 0 3

1) Budx3 Aftmim 29 9 T AESx H® 900 J | (Place value of 9 in above number is 900)
2) 3 ©JE € AF'& J | (Three is at tens place.)

3) Guda3 Hitmir & 99 3 20 J | (Above given number is more than nine thousand.)
4) A3 I8& AJt IS | ( All the statements are correct.)
6) FHI wiftmug & Sfimr 3 B fes R s g o9 7 o8l fifle I8 o5 | fm i niat R o=
{&femir 77291 | Class teacher told that a day has one thousand four hundred forty minutes.

How it would be written in numeral form ?
1) 100040040 2) 1440 3) 1000440 L) 140040




7) Jot &3 fg39 &g Torel @ AF® = »ifds He usT a9 |
Find the face value of number at tens place in the given picture.

W 8

gm9(Thousand) Fo=T(Hundred) Ta=i(Tens) fearEhones)
1) 6642 2. 400 3. 4 4. 40

8) f&3 I fare39 '3 TIAE Htmr ufgors | sy

+#
Recognise the number shown by given Abacus. E | B

1) W3 ga3 Ud # 331 (Seven thousand five hundred thirty
three)
2) f3s gug f3& ° A3<A" (Three thousand three hundred

-

00— | et

00000 | A&

fifty seven)
3) 33t garg UA | |3 (Thirty three thousand five hundred seven )
4) W39 Jga7g Ud | 331 (Seventy thousand five hundred thirty three)
9) It i3 I W' T fIgz WI v &9 5 Wi T A3 3 & Afanr I?

Which house has the smallest 5 digit number?

| ﬂﬂﬂﬁﬁl A JEOGUU EER
2)

1)
10) 1Bt & AT fare3t ©H | Find the correct number of sticks.

(T
(I

1) 352 2) 325 3) 235 4) 552

11) HE'Sd H& HTdST MEHS At &1 Adt ferf3z qu €r ?

Find the correct expanded form of number given in the following place value chart.
34 (lakh) Ja9 (Thousand) fearedhnt (units)
) ~
= © 2 = —
— [72) [0) o
85 |25 B | g% | ptlegpd
£ c S £ S S e =)
_.G_'.) = E c — I ~ ~
= = =
o i
=
7 3 8 0 0 9

1) 700000+38000+9 2) 7+30000+800+9 3) 700000+30000+8000+9

4) 700000+30000+8009




12) Jo" feuret IALT wigA™ AfgnT €F

Find the number as shown by following picture.

9903
1) 544 2) 435 3) 345 4) 453
13) HftMr 8685 & AEGS HE AIet GUd TIAC|
Choose the place value chart showing the number 8685:
Nl TEe fearett | o) S | fearebot
;;-Ha- T Hasr oTet foae oy | TG Raar @t feaet
8 6 5 8 8 6 8 5
3)) ww | fearebw L) SEC] fearetmt
a?a owg  Hasr el fearet EELB, g Hag et fearet
6 5 8 8 6 8 8 5

14) A3 S WA WHES % 10000 I 87 T B Hdls T grc Is WeA'g I -

The monthly income of Jot is T10000. His monthly budget is as follows:

1. afgwmé 3 ¥dg (Expendiure on grocery items) % 2650 A
2. H3® €t €A (Expenditure on education) T 2666 B
3.€U = ygdg (Milk bill) T 1555 C
4, 2% 3 AIAMT 3 ¥3g (Expenditure on vegetables and 7 2L66 D
fruits)

5. gc&® ¥du (Others) 2663 E

GUISI AIEl WgHd 13 © HIg T Al Wice g Be |
As per the above table, choose the correct descending order of Jot’s expenses
1) B>A>C>D>E 2) B>D>A>C>E
3) B>A>D>C>E L) A>B>C>D>E
15) Jo' f&3 wat &5 fom wa T 399 979 via' ©f I3t 3 IST Aftprr I?
Which of the following house has largest 4-digit number?

N
< ﬂ 1000
2)




Class: 7"-Mathematics

Weekly Practice Sheet 1

Integers

1) Ag 3 I3t foe=zHa AYIs Aftmr § AZ 3 2 UaTSHA HYTs Aftmm 57 31dT aisT Afer J 3F___ Y3 ger
J | When the largest negative integer is divided by the smallest positive integer then we get:
11 2)-1 3)0 L) U3T &I 3T AT AAET can't be determined

2) far Tz = yfgmr 8 a9 T 3uHs § 30°C 3 5°C Y=t uie < =9 3% U 96 f 7993 J, fem
yfgfont T 53 IT 3 8 U amiE IHJ T SUHS foaT dear ¢

A certain freezing process requires the room temperature to be lowered from 30°C at the rate of 5°C every

hour. What will be the room temperature after 8 hours of beginning of the process ?
1) 10°C 2) 25°C 3)-10°C 1) 70°C

3) f¥a TaraeTg 3 20 Far, 10 JUT Y3t a1 &3 T forg &% 9 »i3 87 50 fazm=t, 2 que yIt fasmg gt
© formg a6 <9t | 88 38 U &5 Af oot dfenr 2
A shopkeeper sells 20 bags getting Rs 10 profit per bag and he sells 50 books getting Rs 2 loss per book . How
much profit or loss he gets ?

1) 100 I /loss 2) X110 3/ profit  3) X100 %3/ profit  4)X 110 IS /loss
4) aifsz ¥ feq 2rAe 29 20 YAs I6 1399 YAS =7 Adt €37 ¥ ¥ 2 »ix fiee J6 »i3 99x a3 €39 95 3
| Mg ST JI dteT & 15 At 839 &3, »i3 g I%3 o3| BAT &% fds vix 987
In test of Mathematics there are 20 questions. For every correct answer 2 marks are awarded and for every
wrong answer 1 mark is deducted. Reeta answered 15 questions correctly and rest are wrong. What is the
total score of Reeta?
1) 22 2) 20 3) 25 4) 30
5) 7 x= (-10) + (=10) +......20 T M3 y = (10)+(10)+....... 20 TG 3T x+y T HS UST A |
If x =(-10) + (-10) +......20 times and y = (10)+(10)+....... 20 times then x+y = ......
1) 400 2) -400 3) 0 4) 1

6) UAd § AT 20 © WU &% Ifen A 3T_ Y3 I |
Fifty when divided by half of twenty gives
1)2 2)5 3)4 4)0
7)1 %3 10 T fegarg A 3 5 weH Aftmr J: The greatest prime number between 1 and 10 is:
1) 2 2)5 3)3 47
8) A 3" Ecl 6 Wit T Aftni™ »i3 A 3 3T 5 widt ©F AT T ni3d ot J<drm?
What is the difference between the smallest 6 digit number and greatest five digit number?
1) O 2) 1 3) 10001 4) 99999
9) 78636L 3T 16/ T AERA HS' T JEESH foar I?
The product of the place values of sixes in 786364 is:
1) 36 2)36000 3)360000 4)6060
10) fAA3 »ig\ Aftnr {93t T2 The even prime number is:

1) 4 2) 6 3) 2 4 0



11) =t Aftmofm 88 3 371 gt d< 37 feg gt
If a number is divisible by 88 then it will also be:
1) 22 w3 8 3 31 Divisible by 22 and 8
2)11 3 8 3 3dT Divisible by 11 and 8
3)11 3 W3 2 ¥ f331& 3 39T Divisible by 11 and thrice of 2
4) Qudas A9 All of these

12) g8 vigt =t Aftmr 12527468 § 3 B I II6 '3 0 el F9eT JI B T IS U Hew I5?
An 8-digit number 4252746B leaves remainder 0 when divided by 3. How many values of B are possible?
1)2 2)3 3)4 4)6
13) AT IS Hitm™ 5 »3 6 5% <31 Aet d< 37 fog Is &3t Aftmiet f&85° faA At &% oiET &t €51
a7
A number is divisible by 5 and 6. It may not be divisible by
1) 10 2) 15 3) 30 4) 60

14) AR & A9 F9 3o fonast fedS fSase o3| fegst © IeH & Hu HRT 80
Adhftes, 85 Adhiied W3 90 AChicg I Wig-ue fdd gt I 1 I3 § II
T J 3T A A YIs e 9T i gt § Yo 59 Aaee
In a morning walk, three persons step off together. Their steps measure 80 cm, 85

cm and 90 cm respectively. What is the minimum distance each should walk so that
all can cover the same distance in complete steps?

1) 12240 cm 2) 5cm 3) 15cm 4) 90cm
15) AFJ 150 feontt T fazrg & dfent § 1 3 150 o nifaz i3 7= 3t o8 8 e wist & farest foldt
S

What is the total number of digits printed, if a book containing 150 pages is to be numbered from 1 to 1507

1) 262 2) 342 3) 360 4) 450



Class: 8"'-Mathematics
Weekly Practice Sheet 1
Rational Numbers

1) 786364 ST ‘6’ © AEa HB' © Jreaas fdar I2

The product of the place values of sixes in 786364 is:
1) 36 2) 36000 3) 360000 4) 6060

2) 35 fafi T foraat ufaer wiftenr — w3 £ @ fegarg 37
Which of the following rational numbers lies between 1—10 and %?

1 1 2 1
1) s 2)5 3) 5 4)E

3)%3&F|’)—ﬂaﬂ?'§§x(p—q)=1‘§1%€"d’a‘a’l fegat feS faazT p 3 q ©T HE I ATET I ?
Consider the equation %x (p—q)=1. Which of these can be the value of p and g?
1)p=%and q=1 2)p=§ and q=1
3)p=%andq=2i 4)'p=§andq=§
4) It {37 grge 2018 K7 fgis Jizafy AR © wigAd fede @8 nuarat & Aftr § earger
J1 Arger &g wigmr3 Afemr fagdt I A J7?

The chart below shows the number of newspapers sold as per Indian Readership Survey in 2018. Which
could be the missing number in the table?

Name of the Newspaper | Ranking | Sold (in Lakh)
A 1 70
B 2 50
c 3 ?
D ) 10
1)8 2)52 3) 77 4) 26

5) ¥ x= (-10) + (-10) +......20 TG M3 y= (10)+(10)+....... 20 It 3T x+y T HB UST I |
If x = (-10) + (-10) +......20 times and y = (10)+(10)+....... 20 times then x+y = ......
1) 400 2) -400 3)0 4)1

6) fEt et Hftor G 3 feaat 99 foraar wiva - 8 womger I

. . . 5
Which of these letters on the given number line represents 3 ?

1)E 2)F 3)G 4) H
7) R ol 3 ReT9 8T« — o0 i i ufonwr Ao § S 3, fegst R foraw K

T We-e Hefe3 gar3Hd Wi HS J7?

Consider the given expression: Given that the expression represents a rational number, which of

1
vK+7
these is the least possible positive integral value of K?
1)0 2) 2 3)8 4) 10



8)AZ 3 22T 6 nidt Tt Afdn™ W3 A 3 ISt 5 wiar & At T »i3g ot d<ar ?
What is the difference between the smallest 6 digit number and greatest five digit number?

1)0 2)1 3)10001 4)99999
9) II Afend™ =7 JrEads Jer J| is factor of each number.
1) 0 2) 10 3) 1 1) 100

10) fAA3 nisH Aftor a3 J? The even prime number is:
1) 4 2) 6 3) 2 4) 0

11) Ad9 =t Aftmr 88 3 31aT gt d< 3T fog Jedan:
A number is divisible by 88 then it will also be:
1) 22 w3 8 3 3791 Divisible by 22 and 8

2) 11 »3 8 3 a1 Divisible by 11 and 8
3)11 3 M3 2 & f39& 3 391 Divisible by 11 and thrice of 2
4) QUIx3 AT All of these

12) g8 vigt @t At 12527468 § 3 &8 IHIJIG '3 0 Tl 597 JI B © f&S 18 Age 952
An 8-digit number 42527468 leaves remainder 0 when divided by 3. How many values of B are possible?
1)2 2)3 3)4 4)6

13) 7d It Hitmi™ 5 »3 6 &% <3t AT I 3t fog Jo it Bftmret {357 far Aftnr s i sdt
3T A=t ?

A number is divisible by 5 and 6. It may not be divisible by
1) 10 2) 15 3)30 4) 60

14) ALI T A Fg fFa fona3t fedS fsase gal fogat @ aer & v gHe'd 80 A, 85 AT
W3 90 HAH T | We-ue fdd gt 3 7 939 § 3o Tdier J 3F H A9 YIS St ® oD

. . NGHCh
&g ffa Tt & ygr 99 Aae? ,;{h-@\k tg%,,
Y T\ S

In a morning walk, three persons step off together. Their steps measure 80 cm, 85 cm LT

and 90 cm respectively. What is the minimum distance each should walk so that all can S
cover the same distance in complete steps?

1) 12240 cm 2)5 cm 3)15 cm 4) 90 cm

15) Asg 150 dfenit =&t fazmsr © dfemt § 1 3 150 3 i3 =i 7= 37 5% 8 9@ widt < farest
fdet I2

What is the total number of digits printed, if a book containing 150 pages is to be numbered from 1 to
150?

1) 262 2) 342 3) 360 4) 450



Class: 9''- Mathematics

Weekly Practice Sheet 1

Number System

1) 786364 3T ‘6’ © TS ATSx HB' © Jleaas fadar I 2
The product of the place values of both the sixes in 786364 is:

1)36 2) 36000 3) 360000 4) 6060
2) (_])]001:?
1) 1001 2) 1 3) -1 4) -1001

3) 5100gT feqret nix ot d2ar? What is one’s place of 5'°°?
16 2)5 3) 1 4)0

4) 7 x=(-10) + (-10) +......20 I ¥13 y = (10)+(10)+....... 20 ISt 3T x4y T HS UST IS |
If x = (-10) + (-10) +......20 times and y = (10)+(10)+ ... 20 times then x+y = ...

1) 400 2) -400 3) 0 4) 1
5) g &3 Az 3 &2t Aftmr f3g3T 32 Which of the following is the smallest number?
1) 5.9853 x 103 2) 6.595 x 10°
3) 3.43 x 10° 4) 7.004 x 10°

6) Jot fi&3 Tac 2018 KT fESie Jiadfid AIR © wigH'd fede @& wiysrd' <t Afamr §
TIAET J| Arge &9 wiimr3 Fftmr fagdt I Adet I7

The chart below shows the number of newspapers sold as per Indian Readership Survey in 2018.
Which could be the missing number in the table?

Name of the Newspaper | Ranking [ Sold (in Lakh)
A 1 70
B 2 50
o 3 ?
D 4 10
1)8 2) 52 3)77 4) 26

7) 6,70,905 €7 fersfas JU: The expanded form of the number 6,70,905 is

1) 6 x 10000 + 7 x 1000 + 9 x 100 + 5 x 1

2) 6 x 10000 +7 x 1000 +0x 100 +9x100+0x 10+5x 1

3) 6 x 1000000 + 7 x 10000 + 0 x 1000 + 9 x 100 +0x 10+ 5x 1
4) 6 x 100000 + 7 x 10000 + 0 x 1000 +9x 100+0x10+5x1

8) A 3 221 6 niat T Ait™ i3 AZ 3° ISt 5 wiat & At 27 wizg ot Jear ¢
What is the difference between the smallest 6 digit number and greatest five digit number?
1)0 2)1 3)10001 4) 99999



9) JIX Aftmi™ =7 gresds Jer J| is factor of each number.

1)0 2)10 3)1 4) 100
10) fAA3 »ig™ At fxast J? The even prime number is:
1) 4 2) 6 3) 2 4) 0

11) Ad9 It At 88 3 37aT gt Jd= 3t feg JIan:
A number is divisible by 88 then it will be:
1) 22 w3 8 3 37dT  Divisible by 22 and 8
2) 11 3 8 3 391 Divisible by 11 and 8
3)11 3 M3 2 ¥ f39& 3 3791 Divisible by 11 and thrice of 2
4) @LI_QJB(B’ AS  All of these

12) f8F 8 wiat Tt AftMIr 42527468 § 3 B INT SIS '3 0 Tat Foer J1 B © [Ho Hs

HIT I5?
An 8-digit number 42527468 leaves remainder 0 when divided by 3. How many values of B are
possible?
1) 2 2)3 3)4 4)6

13) Had J&t Hitm™ 5 w3 6 &% 3T Aidt I 3t feg Is fefznr &9 fam Aftmr o® I &dt
33T Ar=att?
A number is divisible by 5 and 6. It may not be divisible by
1) 10 2) 15 3) 30 4) 60

14) AT & AT £9 35 fenE3t ids fsase I8| figst @ geH @ vy
FHEg 80 Achiteg, 85 AChiica w3 90 AShiicg T | We-ue
fdat gt I 7 999 § 39 Tder I 3T H A YIS deH feg i
¢ &y e

In @ morning walk, three persons step off together. Their steps measure 80 cm, 85 cm and 90
cm respectively. What is the minimum distance each should walk so that all can cover the
same distance in complete steps?

1) 12240 cm 2)5cm 3)15cm 4) 90 cm

15) ASd 150 Ufent oadt fazmsr @ Ufentt § 1 3 150 S wifgs i3 7= 37 5% 80 3@ wist &
farest fodt 2

What is the total number of digits printed, if a book containing 150 pages is to be numbered
from 1 to 1507
1) 262 2) 342 3) 360 4) 450



Class: 10"- Mathematics

Weekly Practice Sheet 1

Real Numbers

. Decimal representation of a rational number:
UfgHe At €7 EHHST YA Je7 3:
1) Non-terminating and non-recurring / ™MH3 ME-ned3t
2) Terminating or non- terminating recurring / A3 A7 MH3 nred3t
3) Both (a) and (b) / €< (a) M3 (b)
4) None of these /fegat fed et adt

AT 2 fE I
(1) Natural number/ Yfaf3a At (2) Rational number/ Ufghw Ay
(3) Irrational number/ »ufgia wiymT (4) None of these/ feaat fed adt st
L . 1
. Rationalizing the denominator of To7s
1
m@f Jd @ UfgHuade 3|
25 25 VI3—V/12
(1) s @) 77 (3) V13 + V12 (4) —

If a>0is areal number, p and q be rational numbers, then value of aP.a% is :

7ad a>0, &g em3feq mwimr J2, p W3 q ufonw wivet <, 3T aP.a? T WS J<ar :
(1) a?? (2) aP™ (3) as (L) aP*a

. TR aHT & Saret 4 2570, I3 3K 75AH iz BaTEr 2t 75RH T

R =5t 3 <&t T el ©F IAT ©F wEE Aot dedt R § fagf qeEt 3 e9H 3
&Irfen 7T AF 3t H S9F yIt 39 =fomm AR

The length of a room is 4m 25cm, width 3m 75c¢cm and height 2m 75cm.

What is the length of the arm of the largest square tile that can be laid on the floor of the room
without cutting so as to cover the floor?

(1) 75 AH (75 cm) (2) 125 AH (125 cm) (3) 25 AH (25 cm) (4) 50 AH (50 cm)

. fe3 aE geads Ju § YT a9 |
Complete the given factor tree. ®/ \O
(1) 8,4,2 (2)12,82  (3)8,4,1 (1) Bud=s AT (all) PN
©,

O
O/ \@



7.

10.

11.

12.

13.

14.

15.

‘K T H®B UST A9 7T 5x°+15x+k Enit fAedt = A3 fiedt @ Jeees 3 fEw €U d9:
Find the value of ‘k’ if the sum of zeros of 5x2+15x+k, is 1 more than the product of zeros:
(1) -10 (2) 10 (3) 20 (L) -20

. fTor arg feg 86 fagar w3t € udhtt eg 40 fie,45 file »3 fo'g ue gme

T 5 1AZ 3 ufaw 35 Wit ffasd ARd 6 = S AeiT I6I1ART 6 0 3 & & AH
6 I0 I 38 Wt fex ot fdat o9 Tasahmt?

The bells of three churches in a town ring 40 minutes, 45 minutes and an hour later,
respectively. The first time bells ring together at 6 o'clock in the morning. How many times will
the three bells ring together from 6 am to 6 pm?

(1) 2<79(2 times) (2) 3<3(3times) (3) 4 <7J(4 times) (L) 6 T7I(6 times)
fe3 I8 ni@y it faait faeat Ase I&:

How many zeros are possible in a given graph:

(1)1 (2) 2 (3)3 (4)4

p(X) = (x-1)(x-3)(x-5)....(x-99)
QUda=s guuT © I & fdd UT J&dl: The total number of terms of above polynomial will be
(1) 49 (2) 50 (3) 51 (4) 100

5100gT feqret Wig o JLIT? What is One’s Place of 510072

(1) 6 (2)5 )1 4)0

7 x= (-10) + (=10) +......20 I M3 y= (10)+(10)+....... 20 T 3T x+y T HB UIT
I

If x=(-10) + (-10) +......20 times and y = (10)+(10)+....... 20 times then x+y = ......

(1) 400 (2) -400 93) 0 (4) 1

fogst &9 79 3 22 Afmr fII3t 32 Which of the following is the smallest number?

(1)5.9853 x 103 (2)6.595 x 10°
(3) 3.43x10° (4) 7.004 x 103

fES It € Bftmiet 452 i3 340 T H.H.T J<drm:
For the given two numbers 452 and 340 H.C.F. will be:
(1) 12 (2)8 (3)6 (4) 4

1x3X5X7 + 3xX5X7x9 + 5x7x9x11 € Wif3H nixg of J=ar?
Last digit of 1x3x5x7 + 3x5x7x9 + 5x7x9x11 will be:
(1)3 (2)5 (3)7 (4)9



